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Q1 Read the following passage and answer the questions that follow.                     

(5M) 

 

I. A forest is a biotic community which is composed of trees, shrubs and other 

woody vegetation. Forests are a valuable wealth of a nation. The timber 

obtained from forests is used for building houses, ships, furniture, sports goods, 

matches, paper etc. Bamboo canes are used for making ropes, sports goods, 

umbrella handles, etc. Many tribes that live in forests depend upon it for their 

livelihood. Forests provide dyes, gum, honey, wax, silk, ivory, etc. 

II. Forests provide shelter for plants and animals. They also help in preventing 

soil erosion. Forests help in reducing atmospheric pollution by absorbing carbon 

dioxide and particulate matter. People always appreciate the beauty and calm of 

forests. 

III. Destruction of forests is a threat to environment, quality of life and economy 

of a country. Deforestation has depleted the forests to such an extent that it has 

become out of man’s control. Man has destroyed forests for building roads and 

railways and also for setting up industries. Deforestation results in excessive 

soil erosion. Floods and droughts are becoming a norm and a change in climate 

is clearly seen in the atmosphere. 

IV. Man has now realized the importance of forests and the need for its 

conservation. Van Mahotsava is held every year in India to celebrate forests and 

wildlife and find ways for their protection. Alternate resource of energy, such as 

biogas is seen as a suitable substitute for fire wood. Modern methods of forest 

management are encouraged which includes use of irrigation, fertilizers, pest 

management and aforestation programmes. Urban forestry programme aims at 

growing flowers and trees along the road side. 

 

1.1 Complete the statement.                                                                                             

   (1X2=2) 

a) The timber obtained from forest is used for _____________. 

b) Forest helps in preventing ___________. 

1.2 Answer the following questions.                                                                                

  (1X2=2)                  



a) Explain why forests are important to maintain the ecological balance? 

b) Mention few modern methods of forest management. 

 

1.3 Write synonyms of the following words.                                                                     

(1/2X1=1) 

a)  damage (para III)              b. safety (para IV) 

 



 



                                                          HINDI 

पाठ 10- अपूर्व अनुभर् 

अभ्यास पत्रिका 

नाम- …………….                                                                                    

त्रिनाांक- …………. कक्षा/त्रर्भाग-……………                                                                                      

पूर्ाांक: 20                                        

अपत्रठत गद्ाांश 

प्रश्न 1) निम्ननिखित गद्यांश के आधयर पर प्रश्ननां के उनित उत्तर निकल्नां में से छयाँटकर निखिए।                 

(1X5=5) 

सांघर्ष के मयगष में अकेिय ही िििय पड़तय है। कनई बयहरी शखि आपकी सहययतय िही ां करती है। 

पररश्रम, दृढ़ इच्छय शखि ि िगि आनि मयििीय गुण व्यखि कन सांघर्ष करिे और जीिि में सफितय 

प्रयप्त करिे कय मयगष प्रशस्त करते हैं। िन महत्त्वपूणष तथ्य स्मरणीय है – प्रते्यक समस्यय अपिे सयथ सांघर्ष 

िेकर आती है। प्रते्यक सांघर्ष के गर्ष में निजय निनहत रहती है। एक अध्ययपक छनड़िे ियिे अपिे छयत्नां 

कन यह सांिेश नियय थय – तुम्हें जीिि में सफि हनिे के निए समस्ययओां से सांघर्ष करिे कन अभ्ययस 

करिय हनगय। हम कनई र्ी कययष करें , सिोच्च नशिर पर पहाँििे कय सांकल् िेकर ििें। सफितय हमें 

कर्ी निरयश िही ां करेगी। समस्त ग्रांथनां और महयपुरुर्नां के अिुर्िनां कन निष्कर्ष यह है नक सांघर्ष से डरिय 

अथिय उससे निमुि हनिय अनहतकर है, मयिि धमष के प्रनतकूि है और अपिे निकयस कन अियिश्यक 

रूप से बयनधत करिय है। आप जयनगए, उनिए दृढ़-सांकल् और उत्सयह एिां सयहस के सयथ सांघर्ष रूपी 

निजय रथ पर िनढ़ए और अपिे जीिि के निकयस की बयधयओां रूपी शतु्ओां पर निजय प्रयप्त कीनजए। 

(क) मनुष्य को सांघर्व करने और जीर्न में सफलता प्राप्त करने का मागव प्रशस्त करते हैं 

(i) निर्ीकतय, सयहस, पररश्रम 

(ii) पररश्रम, िगि, आत्मनिश्वयस 

(iii) सयहस, दृढ़ इच्छयशखि, पररश्रम 

(iv) पररश्रम, दृढ़ इच्छय शखि ि िगि 

(ख) प्रते्यक समस्या अपने साथ लेकर आती है– 

(i) सांघर्ष 

(ii) कनिियइययाँ 

(iii) िुिौनतययाँ 

(iv) सुिि पररणयम 

(ग) समस्त ग्रांथो ां और अनुभर्ो ां का त्रनष्कर्व है 

(i) सांघर्ष से डरिय यय निमुि हनिय अनहतकर है। 

(ii) मयिि-धमष के प्रनतकूि है। 



(iii) अपिे निकयस कन बयनधत करिय है। 

(iv) उपयुषि सर्ी 

(घ) ‘मानर्ीय’ शब्द में मूल शब्द और प्रत्यय है 

(i) मयििी + य 

(ii) मयिि + ईय 

(iii) मयिि + िीय 

(iv) मयिि + इय 

(ङ) सांघर्व रूपी त्रर्जय रथ पर चढ़ने के त्रलए आर्श्यक है 

(i) दृढ़ सांकल्, निडरतय और धैयष 

(ii) दृढ़ सांकल्, उत्सयह एिां सयहस 

(iii) दृढ़ सांकल्, आत्मनिश्वयस और सयहस 

(iv) दृढ़ सांकल्, उत्तम िररत् एिां सयहस 

पाठ (अपूर्व अनुभर्) सांबांत्रित व्याकरर् प्रश्न:- 

प्रश्न 2) निए गए शब्नां में उपसगष और मूि शब् अिग करके निखिए।                                                    

(1X5=5) 

शब्द उपसगव मूल शब्द 

अपूिष   

अिुर्ि   

हरेक   

कमजनर     

बेहि   

 

प्रश्न 3) पयि ‘अपूिष अिुर्ि’ में निशयिय शब् नि और शयिय के यनग से बिय है।नजसकय अथष है- िन 

शयिय (डयि), इसी प्रकयर आप 'नत्'(तीि)से बििे ियिे 5 शब्, अथष सनहत निखिए।                                                             

(1X5=5)         जैसे:- नत्कनण - तीि कनिे है नजसके 

प्रश्न 4) पयि ‘अपूिष अिुर्ि’ के आधयर पर िीिे निए गए प्रश्ननां में उनित निकल् छयांटकर निखिए |                  

(1X5=5)                                                                                                                                                                 



1) बचे्च नकसे अपिी सांपनत्त मयिते थे? 

(i) स्वयां कन 

(ii) पेड़ कन 

(iii) अपिी जगह कन 

(iv) नकसी कन िही ां 

2) ययसुकी-ियि कन क्यय रनग थय? 

(i) पननियन कय 

(ii) पेड़ पर िढ़िे के निए 

(iii) आपस में नमििे के निए 

(iv) कही ां िििे के निए 

3) ययसुकी-ियि कय घर इिमें से कहयाँ थय? 

(i) तनमनए में 

(ii) डेिेििनफु में 

(iii) कुहनन्बसु में 

(iv) नहरननशमय में 

4) तनत्तन-ियि िे अपिी यनजिय कय सि सिषप्रथम नकसे बतययय? 

(i) ययसुकी-ियि कन                                                                                                                                              

(ii) अपिी मयाँ कन 

(iii) ययसुकी-ियि की मयाँ कन                                                                                                                                   

(iv) रॉकी कन 

5) ‘यह उसकी हयनिषक इच्छय थी’ ियक्य में हयनिषक शब् है-                                                                                               

(i) सांज्ञय 

(ii) सिषियम 

(iii) निशेर्ण 

(iv) निययनिशेर्ण 

                                                                MATHEMATICS 

Q1. 

When the sum of the measures of two angles is 90°, the angles are called 

(а) supplementary angles 

(b) complementary angles 

(c) adjacent angles 

(d) vertically opposite angles 

Q2. 

The sum of the measures of two complementary angles is 

(a) 180° 

(b) 60° 

(c) 45° 

(d) 90° 



Q3. 

The measure of the complement of the angle 30° is 

(а) 30° 

(b) 16° 

(c) 60° 

(d) 160° 

Q4. 

Which of the following statements is true? 

(a) Two acute angles can be complementary to each other 

(b) Two obtuse angles can be complementary to each other 

(c) Two right angles can be complementary to each other 

(d) One obtuse angle and one acute angle can be complementary to each other 

Q5. 

The measure of the complement of the angle 46° is 

(a) 90° 

(b) 44° 

(c) 16° 

(d) 136° 

 

 

Q6. 

Which pair of the following angles are complementary? 



 

 

 

Q7. 

Which of the following pairs of angles is not a pair of complementary angles? 

(a) 60°, 30° 

(b) 66°, 34° 

(c) 0°, 90° 

(d) 160°, 30° 

 

Q8. 

When the sum of the measures of two angles is 180°, the angles are called 

(a) adjacent angles 

(b) complementary angles 



(c) vertically opposite angles 

(d) supplementary angles 

Q9. 

The measure of the supplement of the angle 120° is 

(a) 30° 

(b)45° 

(c) 60° 

(d) 90° 

Q10. 

Which of the following pairs of angles is not a pair of supplementary angles? 

(a) 90°, 90° 

(b) 32°, 58° 

(c) 0°, 180° 

(d) 76°, 104° 

 

Q11. 

The measure of the supplement of the angle 179° is 

(a) 1° 

(b) 2° 

(c) 3° 

(d) 4° 

Q12. 

The angles in a linear pair are 

(a) complementary 

(b) supplementary 

(c) not adjacent angles 

(d) vertically opposite angles 



Q13. 

Which of the following pairs of angles form a linear pair? 

 

Q14. 

The sum of the measures of the angles in a linear pair is 

(a) 90° 

(b) 180° 

(c) 360° 

(d) none of these 

Q15. 

In the following figure, ∠ AOB and ∠ BOC are 

 
(a) complementary angles 

(b) supplementary angles 



(c) adjacent angles 

(d) none of these 

                                                         SCIENCE 

Fill in the blanks 

1. The most commonly used natural indicator is _____________ and is extracted from 

________ 

2. Aqueous solution of baking soda is bitter in taste and feels soapy on touching because 

it contains __________ 

3. __________ are used to test whether a substance is acidic or basic in nature. 

4. __________change their colour when added to a solution containing an acidic or basic 

substance. 

5. Lemon juice, orange juice taste sour because they contain_________ 

6. The solutions which do not change the colour of either blue or red litmus are called 

________solutions. 

7. Turmeric and litmus are _________ acid-base indicators.. 

8. In neutralization reaction heat is always ______________. 

9. Salts may be __________ or __________ in nature. 

10. The correct way of making a solution of acid in water is to _________ 

Write true or false  

1. Mineral acids are formed from the minerals present in the earth.  

2. Salts of acetic acid are called sulphates. 

3. Solutions of salts in water can conduct electricity.  

4. Alkalies are bases which are soluble in water.  

5. Acetic acid is a mineral acid.  

Science Puzzle: 

Solve the following crossword puzzle: 

Across 

3. This acid is found in car batteries. 

4. A rain with high acid concentration. 

6. Common name of calcium hydroxide. 

 

Down 
1. This acid is present in oranges. 

2. This acid is present in the sting of ants and bees. 

5. Substances which are bitter in taste and feel soapy on touch. 

7. Its common name is milk of magnesia. 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

The following table shows the list of some naturally occurring weak acids. Complete the 

table with the appropriate words given in the box: 
Formic acid, ascorbic acid, citric acid, curd, vinegar, spinach, grapes 

 

 

Name of acid Found in 

1. Acetic acid  

2. Ant’s sting 

3. Oxalic acid  

4. Tartaric acid  

5. 
Citrus fruits such as oranges, 

lemons, etc. 

6. Lactic acid  

7. Amla, citrus fruits 

Time to test and be a scientist in your Home lab: Learn to prepare an indicator each from 

Hibiscus petals and from turmeric. Use them to test on lemon juice and soap solution separately 

and write your conclusion in the note book. 



Riya is suffering from indigestion due to acidity. Is it advisable to give her orange juice 

in this situation and why? 

 

                                                           S.SCIENCE 

 (i) Define atmosphere.          (1) 
(ii) Which two gases make the bulk of the atmosphere?     (1) 
(iii) Which gas creates greenhouse effect in the atmosphere?    (1) 
(iv) Define weather.           (1) 
(v) Name three types of rainfall.         (1) 
(vi) How does carbon dioxide create greenhouse effect?       (1) 
(vii) What is the significance of greenhouse gas?      (1) 
(viii) Define insolation.          (1) 
(ix) What is the hot and dry wind of northern plains of India called?   (1) 
(x) Define wind. Mention its different types.       (4) 
(xi) Explain the different layers of the atmosphere.      (5) 
 

 
3. Match the following.  
(i) Trade Winds   (a) Incoming solar energy  
(ii) Loo     (b) Seasonal wind  
(iii) Monsoon    (c) Horizontal movement of Air  
(iv) Wind    (d) Layer of ozone gas  

(e) Permanent wind  
(f) Local wind 
 

4. Give reasons.  
(i) Wet clothes take longer time to dry on a humid day?  
(ii) Amount of insolation decreases from equator towards poles? 
 
 

Match the contents of Column A with that of Column B 

Column A Column B 

1. Temperature (a) Bacteria in soil 

2. Pressure (b) Thermosphere 



3. Seasonal wind (c) Barometer 

4. Radio waves transmission (d) Thermometer 

5. Nitrogen from air 
(e) Change directions in different 

seasons 

 
 
 
 
 
 

Column I Column II 

1. Mesosphere (a) 13 km. 

2. Thermosphere (b) 50 km. 

3. Exosphere (c) 80 km. 

4. Stratosphere (d) 80-400 km. 

5. Troposphere (e) Beyond 400km. 

 
 
 

                                                            SANSKRIT 

कययषपत्म्                                                                                    नित् िणषिम् 
प्र 1 अधननिखित नित्ां दृष्ट्वय ियक्ययनि निित –                        

 

१.अखस्मि् निते् ................र्िनत l 



क. िर्यषऋतु    ि.   िृक्याः    ग.  र्ििम्  

२.निते् एकां  निशयिां.........अखस्त l 

क. निद्यियां  ि.  छयत्याः    ग. िर्यषऋतु  

३ .अत् िौ  ...........गच्छताः  l 

क. निद्यियां   ि.  छयत्ौ    ग. िर्यषऋतु   

४  एकय मनहिय  ...........धयरयनत l 

क. र्ििम्    ि. छत्ां    ग.  धयरयनत   

५ मयगे सिषत् .........अखस्त l 

क.र्ििम्   ि. जिां    ग. धयरयनत     

प्रश्न2- नित्ां दृष्ट्वय मञ्जूर्यणयम् सहययतयय ियक्ययनि रियत :- 

 
  
 

(मञ्जूर्य:-     पुस्तकयियस्य ,नतष्ठखि ,बयियाः , पिखि ,पुस्तकयनि, तूष्णीम् ,कुिषखि)  

1 इिम् --------नित्म् अखस्त | 

2 बयियाः  --------नतष्ठखि | 

3 तत् अिेकयनि -----------सखि | 

4 ते पुस्तकयनि ----------| 

5 छयत्याः  कनियहिां ि --------| 
 

 

 

 


